BH2FE DH25E ZEHRBIRRER4ODIREIBEBIR

DI25E SHERRERARIRAODIZERBLIR 2—1 R
RS 7/27(%)|7/28(W)|7/29(7J<)|7/30(7K) 7/31(&)] 8/3(8) | 8/4(N) | 8/50K) | 8/6(R) 8/’24(%)|8/25(9\’)|8/26(7J<)|8/27(K)|8/28($)
8:30 5 R s R 5 ®
840~ S H R S H R S H R
850~ 1 2B | BFI |RAXB| &#EB A8 | CHEFEBI |t2ER| CRED | MEBEM| RANB | XEEE| #E N 2]
9:35 L2 AT D Kt PIE - B (20 EA DR 23 wo - 8 i 58 PIE - ER ? PIE - R
945~ > RANB|CHEBI | CHFBI | HRI |L2ER| BFB | HEB | REER| 2B | CHELI| P | 8F1 % KRR
10:30 P 3 3 1A EA DR HE B0 ES) B0 3 JACS JACS 3 ES
1040~ | 3 HED | REEE|MEBEM| 858 | 821 | ®ZXRI | &#B |RAXB|{CFER| BF 1 | CHEBI | MIEED é eI
11:25 A% B wo - 08 4 JACS 1IN Kt s SR DR JACS 3 wo -8 T J\K
11:35~ 4 HRI | 5#EB | G5B Rig HE | MEEM|CFER| 8F1 HHEB | CHFEI i Ha
12:20 1IN K Kit I8 MR- | Wo - 08 | BX- 08 A3 Kt L) DR - 2
5
DH25E SHRERRRARIR4ODIZREFEIR 2—2 ISR
B5RS 7/27()5.I)|7/28(9\')|7/29(7J<)|7/3O(7K)|7,/31 )| 8/3(8) | 8/4(N) | 8/5(K) | 8/6(R) 8/24()5])|8/’25(9\’)|8/’26(7J<)|8/27(7K)|8/28($)
8:30 g R s R 5 R
840~ S H R S H R S H R
850~ 1 BRI | SHB | FEER| XEER| CHFBI| CHEBI (LR | HNFT | WL SH#B | HEB | CHFEBI N CHFBI
9:35 JA%S Kith £ £ A 1A EA DR AT wo - 28 Kith L) )it ? )it
045~ > o#B [CHEI| #F | 821 ({EZEH#R|RAXB| #%B A8 |BRAXB|CHEBI| &#B | HEB % ]
10:30 ik 1IN PIE - BR JACS SR 08 iy 2 PIE - BR el 1144 Kt =N 3 PIE - BR
1040~ | 3 REg | SF0D |WELY| BB | #1¥B | =RI | BB | CHEFEBI|LZEWE| RE | CHEFEI|WMELEY g HFEB
11:25 ER JACS wo - 08 BN 2 £ B0 JIIEA SR N8R B 1144 wo -8 T 23
11:35~ 4 BRI |EXER| KERER| BRI HE | ML | (CFER| B HED [ 821 z =
12:20 =@ SR 08 53 £ BN &4 | WO - 0K | K08 B0 JAS JAS HA - ER
5
D2 FE EHRERIRREB4SDIRERGBIR 2—3 BEIgIER
B5RS 7/27()%)|7/28(W)|7/29(7J<)|7/30(7R)|7/31 @] 8/3(8) | 8/4(N) | 8/5(K) | 8/6(K) 8/24(}%)|8/25(9\’)|8/26(7J<)|8/27(7F)|8/'28($)
8:30 s R B R g R
8:40~ S H R S H R S H R
850~ 1 BB [CHFEBI| CHEBI | CHEBI | KEER| SHB | HEB |CHREI| CHEEBI|L2ER| BRI | REER . RREERTE
9:35 2 6 6 6 S g T2 =60 =60 n8R 116 EE] > s
945~ > b ERE| 58EB AE | SEEM| RAXB | = R A8 | BRI | 58B |CHFEI[KRAXB g B
10:30 P} g PIE - BR | R -2 K I - R PI@ PIE - BR 1IN g £ Kt %TJ PIE - BR
1040~ | 3 RANB|b2EEE| BB | #1%I | S#B | BFD | #2101 | XEER| BB |RAXB| &#B | B%B g HEB
11:25 Kt pal) ] Il g Il JIIT3 55 et Kt 1185 et T g
11:35~ 4 HED | BB | ZRI [EZ2ERE| #HE | 2RI | BAXB|RAXB fE2ER| SHB z &
12:20 I T8E 1IN pal) A - PIE 1IN Kt Kt P} g A - PIE
5
DH25E SHERIRRIEIR4ODIREFEEIR 2—14 S
B /218772800 7/2000| 77300 | 7/31@0| 8/3(8) | 8/400 [ /500 | B/6H0 | 8/2419) | 8/2500 872600 [8/27 08 | B/28 82
830 g R g R =
8:40~ S H R S H R S H R
S50~ 1 SEB | B2 | BB |CHEBI| #BF |RHAXB|CHEZBI| XEER| CHEBI| ERI | SHB *B N B8
9:35 ng ;13 K [T T ] JIEA 53 JIEA 23 JITE 2 T ? FIE - B
045~ > BRI (EFEE| CRFEBI | SXE| HRID | SXEM| BB |CHBI|RAXB| HFN | HR2D |{LFERE % CHFEI
10:30 F0T] R e | mw | wneme K 112 K sk sk Pl 5 A
1040~ | 3 FEERE| RE | 8B | BB [RAXB|LZEME| HHEB | &HB | BRB |[{LFEH| REER| 5HB é RHXB
11:25 %3 BE ne K K R 11 11 ok pul) 53 131 T K
11:35~ 4 EEER| CHREI | BFI | BFD HWe | #F0 | BRI [{bPEE Rfg [CH:EI ;7: fint=)
12:20 pulz} I s s NI - BE s 23 pul=} BR I JIgs - B b
3
o
TH2FE SRERIREER4SDIRERGEIXR 2—5 BREIR
B5RS 7/27(@)|7/28(W)|7/29(7J<)|7/30(7R)|7/31 @] 8/3(8) | 8/4(N) | 8/5(K) | 8/6(K) 8/'24()%)|8/'25(9\’)|8/'26(7J<)|8/27(7K)|8/'28($)
8:30 2 ® s R s R
8:40~ S H R S H R S H R
850~ 1 HFEID ({EZEER| SHB | BEB | TREM| KEER| BB | &5#B | B%B ] B%B |{tFEH . EE S0
9:35 58 223 Kith k| wi-nz | ss Ak K ax |PELERC] mx X > w0l - BE
945~ > A8 | #1201 | B%B |CHFBI|BAXB| HXRI | EER|EFER B | XEER| CEEE | SREM g {EFERE
10:30 B Ak =6 gy 23 83 an  |PEER g2 s5 | wi-me % =
1040~ |3 RANB|CHEEI | CHEBI | RANB| CHEL| R2 BB [{b2E#| 6B |RAXB| B¥I |CHEFEI ’é CHFEI
11:25 g B =@ g =@ R ik &R A g B s T s
11:35~ 4 Rig BB | #%0I [ ®RXRI #HE | CHSBI | RAXB | SEE C&EBI| BEB i &
12:20 BR K 5@ gy | ER-ns| =@ ng | e we D ok R - B3
7
DH25E SHERRRRR4ODIZEFEIR 2—6 ESRIEIZR
& 7/278) | 772800 | 7/2000 | 7/3000 | 7/31 8| 8/3(8) | 8/400 | /50 | 8/60H) |8/2413 |8/2500 | 872600 [ 872708 | B/28 )
830 5 R g R 5 R
8:40~ S H R S H R S H R
S50~ 1 CHEB I | XERR| IRANB | CHEB I | SREM|EFER | KEER| 5H#B |CHEFEBI| #BE | ®XRI |CHEFZI N BEREAM
9:35 £ sa i oy | wieme | sk s2 g my  |PEER = 5 ? Il - R
945~ > 23] BB | XEER| BANB| ¥E1 | B%B | &#B | H%B A8 |[EFER| RANXB | SREM g BB
10:30 RE BA 53 Jiiss i BA liss r [PELERC] = g | e Sfu A
1040~ | 3 BRI (E2EE| BEB [b¥ER| CHREBI| o8B | BRI |CHFEBI| R | BRI | BRB | BEB é CHFEI
11:256 EL: & BA ED [0 g £ 3 PI@ £ BX BR T g3
11:35~ oHB | BANB| ¥EI | 821 HE | 20 | 82T | SR EFEW | REERE i Ha
12:20 ng g JIES JIC S PIC TE-2 IV S k| mneme =2 53 JUK - lig
5




